
1Old Man Emu Top Hat kits    ||    www.arb.com.au

DATE: 
February 2014

DESCRIPTION: 
Old Man Emu Top Hat kits 

APPLICATION: 
Refer Application Table 

PART NO. :
Refer Application Table 

PRODUCT GROUP:
320 

BARCODE:
Refer Application Table

AVAILABILITY DATE:
April 2014 

PRODUCT SPECIFICATION

DESIGN & DEVELOPMENT:
As more vehicle manufacturers have moved to an independent coil over strut front suspension set up, demand has 
increased for aftermarket replacement bushes and components.  Old Man Emu have now developed a range of complete 
Top Hat kits (strut bearing plates, bushes and washers) for the most popular fitments to accommodate the demand.

Old Man Emu engineers have developed a complete replacement Top Hat solution which incorporates all required 
components to fully replace the original Strut Top hat.  This includes a new bearing plate, high duro rubber isolator, 
rubber bushes, washers, crush tube (if applicable) and mounting nuts.  All components are to the original equipment 
specifications and are a straight forward bolt in solution.



Old Man Emu Top Hat kits    ||    www.arb.com.au 2

APPLICATION TABLE:

Part Number Description Vehicle Application Barcode

OMETH001 Top Hat Triton ML on 
– one side only

Mitsubishi Triton ML 
& MN
Mitsubishi Challenger 
2010 on

9332018027382

OMETH002 Top Hat Hilux 05 on 
– one side only

Toyota Hilux 05 on
Toyota Prado 150
Toyota Prado 120
Toyota FJ Cruiser
Toyota Fortuner
Toyota 4 Runner
Toyota Tacoma

9332018027399

OMETH003 Top Hat Land Cruiser 
200 series – one side 
only

Toyota 200 series
Toyota Tundra

9332018027405

OMETH004 Top Hat 
Dmax / Colorado 
– one side only

Holden Colorado 2012 
on
Isuzu Dmax 2012 on

9332018027412

OMETH005 Top Hat Navara D40 
– one side only

Nissan Navara D40 
2005 on
Nissan Pathfinder R51 
2005 on

9332018027429

OMETH006 Top Hat Ranger / BT50 
– one side only

Ford Ranger 2011 on
Mazda BT50 2011 on

9332018027436

OMETH007 Top Hat Pajero NM on 
– one side only

Mitsubishi Pajero 2000 
on

9332018027467

OMETH008 Top Hat Prado 90 se-
ries – one side only

Toyota Prado to 
10/2002

9332018027474



Old Man Emu Top Hat kits    ||    www.arb.com.au 3

KIT CONTENTS:

Part Number Bearing Plate Rubber 
Isolater

Rubber 
Bushes

Washers Crush Tube Mounting Nuts

OMETH001
**Also includes 

dirt shield

1 1 2 loose 1 dome washer
1 cupped

1 3 X M10X1.25

OMETH002 1 with bonded 
lower bush

1 1 bonded to 
washer

1 bonded to 
bearing plate

1 loose
1 bonded to 
rubber bush

N/A 3 X M10X1.25

OMETH003 1 with bonded 
lower bush

1 1 bonded to 
washer

1 bonded to 
bearing plate

1 loose
1 bonded to 
rubber bush

N/A 4 X M10X1.25

OMETH004 1 with bonded 
lower bush

1 1 bonded to 
washer

1 bonded to 
bearing plate

1 loose
1 bonded to 
rubber bush

N/A 3 X M10X1.5

OMETH005 1 1 rubber 
isolator and 

bush combined

1 loose 2 cupped 
(different sizes)

1 3 X M10X1.5

OMETH006 1 1 2 loose 2 cupped 1 3 X M12X1.75

OMETH007 1 1 2 loose 1 dome washer
1 cupped

1 3 X M10X1.25

OMETH008 1 with bonded 
lower bush

1 1 bonded to 
washer

1 bonded to 
bearing plate

1 loose
1 bonded to 
rubber bush

N/A 3 X M10X1.25


